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Q. No. 1 (a to g) carries 1 mark each (@nysfour) s ST e 1x4 = 4
Q. No. 2 (a to g) carries 1 mark each (@I fOLT) s i St b Ix4 = 4
Q. No. 3 (a to m) carries 2 marks each (any ten)..........cc........ 2x10 = 20
Q. No. 4 (a to 1) carries 3 marks eacl (any nine).............ou....... 3x9 = o7
Q. Nos. 5 (a to e) carries 5 marks each (@10)i three) e 2 SR Eann 5xSE =15

Total = 70
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1. Answer any four of the following : 1x4=4

S
(@

(b)

(©)
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fizere oif5) e Oed il ¢
Which one of the following is an economic factor influencing

the distribution of population ?
Gl e e (ARl ©o (D! SILEtes SR 2

Choose the correct answer :

w5 Gescol JIR Ceredl &

() Climate (W‘Pg)

(i) ~ Soil (3f5) .

(i) Minerals (& =mi<)

(iv) Landforms (Z&I$)

Which one éf the following is a secondary activity ?
e @Rk 7oRs e ' '
Choose the correct answer :

w5 CeFhl IR CeSdl

(i) Paddy cultivation (<o)

(i) Mining ()

(iii) Chemical based industry (SFI-E® Coial)

(iv) Tourism (2/205<T)

Which one of the following is not a tertiary activity ?

WCES (@0 gore Jfe T2
Choose the correct answer :

&% Caach) Iz Clesdl &

(i)  Advocate (TF17)

(i) Teacher (%)

(i) Industrial worker (Scmial &%)
(iv) Doctor (TI&9)

[2]
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Which one of the following is a secondary activity ?
W% Srelie (FH! fasis Jfe?

Choose the correct answer :

& Gesco! Az Clred ¢

(i) Farming ($R1)

(i) Manufacturing (s )

" (i) Hunting (B )

(e)
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(iv) Trading (S 1)

Which trans-continental railways of the following connects
Halifax city with the Vancouver city ?

RIS 0! ST (@700 @RS 535 (O5F OF 5299 57
FHEMe! SRz e : '

Choose the correct answer :

&% B! Je ey ¢

() Trans-Siberian Railway (3#-513@I @&212l)

(i) Trans-Canadian Railway (GF-39Cl (€§=22)

(iii) The Union and Pacific Railway (FSHa i< &[5 (F=/2!)
(iv) The Trans-Australian Railway (GF-SICOEEN (&&92)

Which one of the following types of economic activities
dominates in all rural settlements ?

A &N TPIS ©oe (SRR I [ 2

Choose the correct answer :
&% CGIhy Jifz ©ersar &

(i) Primary (22f5)

(i) Secondary (&size)

(i) Tertiary (TSI)

(iv) Quaternary (59%)
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() As per 2011 Census, the population density (persons per
sq. km) in India is

2053 BE (FIIERE SN SHes SRR 39 (I 4fe 3of Ffi) '

Choose the correct answer :

we ©GICh! 2 Gesdr &
(i) 313 (959)
(i) 328 (©3).
(iii) 382 (9rR)
(iv) 390 (950)
2. Answer very briefly : (any four) ' 1x4=4
WS B3 O WAl ¢ (R bif<b!) '
(a) Name of the state where Hooghly Industrial Region is located.
wife] Solal Sixes 21 ST [ *
(b) One mining town of Assam
SRR @3 Affefes F59
(c) - One administrative city of Assam
ST 93 A€ B2 '
(d) One type of Non-Ferrous mineral
G S-ETE T e 2mief
(e) Location of Tata Iron and Steel Plant
Biol (=7-STil Somisi SRS
() Highest amount of sugar producing state of Indjs
CRSA FAET (Oel] O T ST
(g) One National Park of Assaml

ST 3 G S
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3. Answer in brief : (any ten) 2x10=20
o3 ©ed Wl ¢ (fepic w2br)

@
)
(
@)

(e)

I(g}

(h)

()

(k)
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Write two major causes of population growth.

SRl w707 2 FRe &4

Mention two types of subsistence agriculture.

72 S CAR PR Ty 4|

Mention fwo types of plantation agrlculture

7% o @I 1 Seae Sall

What are the fwo main factors affecting mining activities ?
4 SIS Aol [ew 41 a4l T 700 7 /e

Mention two types of animal based industries.

(G A= RS 72 459 Somier 1w & |

Which are the two main factors of population migration ?
GG ekl TR 76) [F e

Give two reasons of low level Human Development in most of
the Northern States of India.

SRS SIoN SRS SIS 7w T 2R fwae @RE 7ol
el wesfia |

Mention the ﬁame of two mining towns of India.
RS 73 JHefeT Foiw Wi Srae 34 |

Mention two zaid crops produced in India.
SIS S (R 77 G FR e S Sz =41 |
Name two cropping seasons of India.

OIS 76/ SR AT i B |

Name two non-metallic minerals found in Assam.

SIS (AR 7/9% S-4iefi e 2R S 71|
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() Mention two Industrial Regions of India.
©Red 701 S SI%eed A S 4 |
(m) Name two International Airports of India.

OIS 75] SIGEoe [ I9<E 9 {721 |

Answer the following questions in about 100 words each : (any nine)
3x9=27
weTe [l eIEs afSrh Ues Soobl wwe fCege Wal ¢ (Rrwiear 7a5))

(a) Who are considered as literate persons in India ?

CIOY (FiF e Jfes HiEre g 10 9 282
(b) Discuss the approaches to Human Development.

SR R “i2eRs [ SiEin-l 54|

(c) Mention the main characteristics: of F‘Qot Loose Industries.

e X5 Somle 4 Reiaeerz UrEd <4 |

(d) Write the basic difference between barren land and cultivable
wasteland.

Afoosil o FREN) Afvesta Fee 29 T2 21w & &

o

(e) Discuss briefly the major causes and effects of depleting water
resources in India.

SRS GEA™Y el 2 (AR 32 €9 SN O &S DI SiETiva 5 |

() Write briefly about the knowledge based industries.
wRffes Soul R v fsi

(g) Write briefly on the types of industries on the basis of ownership.
e IEeR SE ©el 541 FErTIRd KEe e sl

(h) Write about the Hill Area Development Programme in India.

Sleee AR S SR SEb e [EE Fa

(i) Write about the Satellite communication system in India,

oS Bgzd alEl 4 @il aEER REe @i
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() Discuss about the importance of Rail Transport in India.
SReS (@ ~ifes IR ©F9 SIEbl T4 |

(k) Write the main causes and consequences of Air Pollution.
Y MR Y PR BN FEeeR [{Ee |

() Write a note on Petrochemical industry of Assam.
SETE CAQ IR SOisiE \eoiwe @Bl (il i |

Answer the following questions : (any three) 5x3=15
wee Tl eMeTIed ©ed WAl ¢ (Rl fofan)

(@) Give the definition and explain the importance of Human
Geography. " 3+2=5
R SOE TRl Tl Ol 3R e I 54|

(b)) What do you understand by density of population ? Mention
the major factors influencing the distribution of population.

! 2+3=5

SRS T2 TG 6 &1 2 GeeikaE e @SR (At 2 SRR
T 4| '

(c) Write about the factors affecting tourism.

o el T SEeERe Faw
(d) Explain the functional classification of towns.
oS fefee T TiReem e i

(¢) Draw an outline map of India and mark the locations of the
following therein :

SO BIRAR (YEIR @49 ifba Sk 541 i O 9a® alERS
SRZ (T4l ¢

(i) Digboi ([®ata)

(i) River Brahmaputra (F=i°[@ =)

(iti) Jamshedpur (SRC9S)

x

34T GEOG [7]



